DU MPhil PhD in Punjabi
Topic:- DU_J18_MPHIL_PUN
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[Question ID = 6477]

3J-AF T sIEr
1, = . (Option 1D = 25901)
2. U?} R e ] [Option ID = 25902)

JJ-RA T fmrmg
3. i [Option 1D = 25899)

RA-FJ9 © fimrg
4. g9 [Option ID = 25900]

Correct Answer ;-

39-RR T fimrg
[Option ID = 25899]
) ‘fsRufes W ufsR uRss T a9z 3 0
[Question ID = 6487]
. B I [Option ID = 25939]

2. ; E:E’ [Option ID = 25940]
3. [Option ID = 25942]

TFomT foRster
L [Option ID = 25941]

Correct Answer :-

-

. PHA® g2 [Option ID = 25940]

3 I3 fafuni ' fogs g2 7t § 2

[Question ID = 6491]

g U - TE-gE St [Option ID = 25957]
g, O ES - garet S ¥ [Option ID = 25955]

3, AT 3E& = FBT T T9 (o001 = 25958]

4 utg W - gfonft &t =9 [Option ID = 25956]

Correct Answer :-
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: [Option ID = 25962]

Heg ©°H »aH

= [Option ID = 25959]
33 [Option ID = 25961]
4. HITHY T3 [Option ID = 25960]
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Correct Answer :-

nifaHe J [Option 1D = 25960]

HRY T i, fore fowe 9 faos © <@ 3 fofimr 3 2
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§ud=z T faosT ROt de 9 -

[Question ID = 6494]

t (3) w3 (4) [Option ID = 25969]

(2) S (3)
2 /" [Option ID = 25968)
3. (9 »F‘ (1) (option 1D = 25970]

"

Correct Answer :-

6) Vst Imu-nfhis 5% HEUS T9E6ud 3% 96 7
(i) Afgeg IHT THET (ii) ma== AW
(iii) 37. AIAIZ TR (iv) FaH= R
Gusez = faos ROt He T -

[Question ID = 6489]

) (‘) 3 (ii) [Option ID = 25947]
, ()3 (1) (ption 10 = 25950]
(1) Y3 (i) [option 1p = 25949]
(i) w2 (ii1)

3

4 [Option ID = 25948]

Correct Answer :-

, () 73 () o000 10 = 25950]
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j, &7 JI9T90 AW DTHT [Option ID = 25943]

Correct Answer :-
S

- CEEL fRur nrawt [Option ID = 25943]
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[Question ID = 6486]
. (A) 73 (R) BF T8F T8 ;50000 11 = 250371
,, (A) ATt 3 (R) »iffre At T (Option ID = 25935]
5, (A) 73 (R) B¢ At T [Option ID = 25936]

(A) @3 T (R) Adt T
4. [Option ID = 25938]

Correct Answer :-

o UATET-T93x 3 Ygss 96 feg, ferret fimmsamt w3

{ SN -~
(A) W13 (R) =¥ A3t I5 [Option ID = 25936]

%) fereH, 879 Udigg’ & o3 fee 3, 857 &7 g1 ot 9 2

[Question ID = 6495]

: THIS HIHE,, i ST, SRV Snss E"_§E [Option ID = 25974]
THo3 TT5T, I993 TIAT, I993 HAT, J9d3 HUHT

; ) - = A [Option ID = 25971]

) = i [Option ID = 25972]

3
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Correct Answer :-

HAT, JH93 TEE, - [Option ID = 25972]
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orrect Answer ;-
+ I-C, II-D, III-A, IV-B [Option ID = 25953]
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T35 (R) TI-Tfe = 5fex. TR fifeos s Fer 3
gudaz © fxosT Rt w2 9 -

[Question ID = 6493)
(A) 8T T (R) Rt
: (Option ID = 25966
) TSI
2, (A) 73 (R) &% T [Option 1D = 25964]
, (A) »3 (R) T Rt I5
o< (Option ID = 25963)
A) WIS
4, (A) &R) FU} a [Option ID = 25965]

Correct Answer :-

(A) 7It 3 (R) »ifhx ®It & (Option ID = 25965)

) st =t fam Sus fem, TRt Rugrt /A7 = SeoE, Bt ST men

[Question ID = 6517]

TS

: P [Option ID = 26062]

IOTE [Option ID = 26060]
AT [Option ID = 26061]

3
4, wEt [Option ID = 26059]

Correct Answer :-

. Yo [Option ID = 26061]

D) J5 fE5t 5ot T foes &9 -

(A) Pfg o= (1) #=7 udt &
(B) €3 @& (2) g7 TAG
(C) Pt = (3) 33 A

(D) 783 & O
Gudez T RIT aH T -

[Question ID = 6523]
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-1, D-3 [Option ID = 26083]
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Correct Answer :-

fenmags feaeh s

, aTax HEmi® 5% [Option ID = 26071]
_HET Rt 575 [Option ID = 26073]
o, THHE BB (60000 10 = 26074)

fenrags foarsht 55

[Option ID = 26072]

[Option ID = 26072]

%) I 25t 5ot T o 59 o

Ha1-1

(a) HE=TT
(b) HTST
(c) st
(d) wnrat

Rel-1I
1. s
2. 783
3. YRS
4, vt

QST T A N T -

[Question ID = 6518]

1. A4, B-1, C-2, D-3 [Option ID = 26064]
2. A4, B-3, C-1, D-2 [Option ID = 26066]
3. A-1, B-2, C-3, D-4 [Option ID = 26065]
4. A-3, B4, C-1, D-2 [Option ID = 26063]

Correct Answer :-

* A-4, B-1, C-2, D-3 [Option ID = 26064]

[Question ID = 6525]

1. A4, B-3, C-2, D-1 [Option ID = 26093]
2. A-1, B-2, C-4, D-3 [Option ID = 26091]
3. A3, B-2, C-1, D-4 [Option ID = 26094]
4. A-3, B4, C-1, D-2 [Option ID = 26092]

RS T-1I
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(3) 3. FRUS X9
(4) 3. effET 33 (
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|
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: o [Option 1D = 26067)

2. s ém [Option 1D = 26069]

3. HW [Option ID = 26070]
4. fg@m [Option ID = 26068)

Correct Answer :-

'(;@Z (;
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[Option ID = 26067]

18) Ty, fom owm TR UST T 0
[Question ID = 6480]

m T ¥st 9 mee oo
[Option ID = 25912]

2. b'r,q' [Option ID = 25914]
3; '(")'U_' S [Option ID = 25911]

W ©°
4, YT T T (gpri0n 10 = 25913)

Correct Answer :-
RRGEIR ClIES [Option ID = 25913]

19) ‘ggtE” ST ?

[Question ID = 6521]

5= ::: FEH T FE HOTS I &13T MEASS (ption 1D = 26076]
%z T AE ¥ nid nieg ST MEHoe [Option ID = 26077)

, BRT U3 UBE HeId MEFAS™S (oion 1p = 26075]

L

4, ﬁ S BT Ha e [Option ID = 26078]

1.

2.

Correct Answer :-

Iz 3 FS © nigg nied ST MEHOS (opion 10 = 26077)

, D-2 [Option ID = 26075]
\ 26080]
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A-2, B4, C-1, D-3 [Option ID = 26081]

[Question ID = 6516]

HIASG [Option ID = 26055]

2. ~" [Option ID = 26058]
3 G [Option ID = 26057)

1.

4, U [Option ID = 26056]

Correct Answer :-

ST [Option ID = 26058]

) I fofmit feg’ faosT g At &0t 3 2
[Question ID = 6524]
7. ni39 fRwr —
i [Option ID = 26090]
5, & SITSHS fRr  — S zainf @ [Option ID = 26089]
Y. foms frw — JOEE T HI
3 X [Option ID = 26087]
Y. Joees frw —  goErel AfenreT [Option ID = 26088]

4,

T 3Eg 3 feaTg

Correct Answer :-

5. 3T fRw — 3T a9 3 ffaw9 [Option ID = 26090]

2) fog At Arfos-gu GuT, 593 wWe SR-a9w dfenr 9 7

[Question ID = 6482]
1. JEL [Option ID = 25921]
2. J E} [Option ID = 25920]

¢
3. [Option ID = 25919]

[Option ID = 25922]

4.

Correct Answer :-

ek SEL! [Option ID = 25921]

2yt Fe% 59T TOSA-USAA T ARG AL I 7
(i) HTTTTST" (ii) faRmat

(m) ‘3'(13@? (iv) fous ug3

20 et sTHT T TITSShER (WS W) B, fXn vuge feF nifenr 37
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o (i) niZ (i) [Option ID = 25928)
, @ 13 (i) (option 10 = 25927)
. (D) "3 (i) (option 1D = 25929]

Correct Answer :-
(ii) 212 (iv) [Option 10 = 25929]

) g 7 ufgewht § o9 €15 & 93 ¥ Heg for 575 3 0

[Question ID = 6505]
39T ST
i g B (Option ID = 26012)
a9 Jfee fRwr
- M [Option ID = 26011]
T WERS ©F
3 ~= [Option ID = 26013]
-LIE CEIN [Option ID = 26014]
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Correct Answer :-

BEEERCCIE [Option ID = 26014]

26) FES (A) - HEMHI, ¥¥' € g9 © Y3, HIEZ T 7R & J 3T I
55 (R) - 7Y 3% foorsat §, K famis Y= ot Je7, 7T 3o &9
WTIH-NGEFT ST NTEH-UETE YUS Bdt ger, 88 I uET
¢ 39 T Y=t == v Aue, §RT nies U= &3t I
usez v fogzT Rt He 9 -
[Question ID = 6499]
L (A) »Z (R) TF TG3 TS [option 1p = 25987
, (A) 753 3 (R) AT 3 [Option ID = 25988]
5, (A) 7T T (R) 83 T (gption 10 = 25990]
. (&) »3 (R) TF AT T5 [Option ID = 25989]

Correct Answer :-

, (A) 3 (R) T AIT T [Option ID = 25989]

27) gEx (A) - Fedt e9I9N, f69s sredaT € HoRT €3 muas 9= 35|
F95 (R) - &0 U= & mrnis, B8, diE 73 T390 &% HE HE 361

GusEz T fooe Aat He T -

[Question ID = 6503]

1i (A) A3 a (R) HU? a [Option ID = 26005]

,, (A) At § (R) 53 [Option ID = 26004]

A =u= Tt o

( ) mg HQ'T - [Option ID = 26003]
Ry i 1D = 26006]
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rrect Answer :-

(A) T3 3 (R) 7T T [Option ID = 26005]

28) ‘faare” € HEQ faR % 3 7
[Question ID = 6500]

1 G [Option ID = 25992]

2. W [Option ID = 25991]

3, F=9T [Option 1D = 25994]

4. BT 5T [Option ID = 25993]

Correct Answer :-
OIS [option 1D = 25992)

) FoTTEC B3 T ?

[Question ID = 6498]

), TEgS - SHITS [Option ID = 25984]
5. MO H™ATZ3 o ption 1D = 25985]
o RS g3 [Option ID = 25983]
PR EEiCES [Option ID = 25986]

Correct Answer :-

HEg3 SRR [Option ID = 25984]

30) 35 fogt gt © S &9 -

Hei-1 Fei-1I
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LREEY (ii) AT

c ITET (iii) HITHST
d IHH" (iv) TTEH
GuSes T AIT qH T -

[Question ID = 6502]

1, A<(1V), B-(1), C~(11), D-(III) [Option ID = 26001]
2. A<(IIT), B-(II), C-(I), D~(IV) [Option ID = 25999]
3. A<(I), B-(IV), C-(11I), D~(1I) [Option ID = 26002]
4, A-(II), B-(1II), C-(IV), D~(I) [Option ID = 26000]

Correct Answer :-

e e R e s ik sl Al R
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[Question ID = 6504]

1. © ™3 d (650n ID = 26007]

2. @ ™3 ¢ (option 10 = 26008)

a2 b ;
3 [Option ID = 26010)

_bméd

4 [Option ID = 26009]

Correct Answer :-

. 3 d ion - 26007)

) 35 fot met w fums &9 -

Hei-1 HeT-1I

A g9 g9ie 1. 4T RIS Tet
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[Question ID = 6497]

1. A-1, B-2, C-4, D-3 [Option ID = 25980]
2. A-1, B-3, C-4, D-2 [Option ID = 25979]
3. A-2, B-1, C-3, D-4 [Option ID = 25981]
4, A-3, B-2, C-4, D-1 [Option ID = 25982]

Correct Answer :-
« A-1, B-3, C-4, D-2 [Option ID = 25979]

) ot fed Fy-amilT 3 Sa AfenmeTS 3, faws wres feg fgfonr famr 37

[Question ID = 6478]

1 fegt feg et Bt
2. )36’ E [Option ID = 25905]
PR CUE [Option ID = 25903]

4 O fow o5 [Option ID = 25904]

[Option ID = 25906]

Correct Answer :-

e fa - [Option ID = 25904]
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) estion 1D = 6496]
A ST HYTH JRRIgT
; = [Option ID = 25978]
, TAS FHAT [option 1D = 25976)
TR
g [Option ID = 25977)

-

W3Jd MEH
7 [Option ID = 25975)

Correct Answer :-

Y WS HYTH geeiat
" = [Option ID = 25978]

35) ,f - o = Cpte
URY FoC 50 REU3 570 © FIl &H TG 7

[Question ID = 6501]
,, TEM, TR R, arst, B (option 1p = 25997)
UTS 3, HY A9, ifs & &9
2 = [Option ID = 25998]
Fters w3 <t 72, 0ig forsst, MEST & o - 25005)

3.
4, X9 3, §=H o, T [Option ID = 25996]

Correct Answer :-

36) m(A)-%ﬁu,@aWaﬁﬁl
W(R)-ﬁ@'fa,@aa‘wfzafaaa’twaﬁﬁl

&uSaz T feosT At e T -
[Question ID = 6514]
. ('A) B3 a (R) ! 'Fﬁﬂ' a [Option ID = 26049]
2 (A) = (R) o Hﬁ [Option ID = 26047]

33 (A) HU-T a (R) 3 a [Option ID = 26048]
. W3R TF, Wit BT T (option 10 = 26050]

Correct Answer :-

. (A) AIT T (R) T3 3 [option Ip = 26048]
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37) a.mwfaa,é‘ue?wﬁra‘,m
b. Enifarg, U, fast
cmmmeﬂzfsw
d.wﬁ,weﬁ‘w,fﬁaaﬁwﬁ:’
@Wéﬁﬁﬂ»ﬁaﬁ?énﬁieaﬁ?

[Question ID = 6509]

1. @ 3 b (option 10 = 26027]
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L5 3 € [Option ID = 26028)

ans ¢
Al [Option 1D = 26030)
correct Answer :-

o
b3 d option 10 = 26029)

38) wrofex Ffos € &F0 few &1 37
[Question ID = 6510)

3, N SEERS [Option 1D = 26032)
USHTE

% I [Option 1D = 26031)
UTUJd

3. [Option ID = 26033)

LﬂE E E
4. [Option 1D = 26034)

Correct Answer :-

FEog
. [Option ID = 26034)

) 35 it met T o &9 -
Fei-1

A. Message of Sikhism
B. Holy Writings of the Sikhs

Re-11
(i) Macauliffe

(iii) Harbans Singh

C. Imagery in the Adi Granth
(iv) J. S. Grewal

D. Critical Study of Adi Granth
QuSas TRt FH T -

[Question ID = 6507]

D-(I) [Option ID = 26021]
2. A-(111), B-(1), c-(1v), D-(11) [Option 1D = 26020]
3. A-(I), B-(I1), C-(I1I), D-(IV) [Option ID = 26019]
4, A-(11), B-(I), C-(1V), D-(I1I) [Option ID = 26022]

1. A<(IV), B-(ID), C-(I1D),

Correct Answer :-

« A-(IID), B(I), C-(1v), D-(II) [Option ID = 26020]

) 35 fogt mEt T B o9 -
Het-1 A T-11I
@)W 3IH (i) T8t IH T
(b) 7e9 (ii) fre IHT T
(c) AT (iii) Ao frRwr

(d) F=Tard (iv) g SB=3
Guiaz T AT o J -
[Question ID = 6513]

1, A-(1V), B-{1II), C-(1), D~(11) [Option ID = 26044]

2. A<(1), B~(II), C-{111), D-(IV) [Option ID = 26043]
1), B-(I), C-(IIL [Option ID = 26046)
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A ct Answer =
1), B-(1I), C=(1), D-(1V) [Option ID = 26045)

41) fxgzT 5T FIT At 9 0
[Question ID = 6512)

- CRIERNES] - HEd
1. "

,, W™ IS - iz
. A Bifur ;{3}3 e ‘ . [Option 1D = 26039]
i ' B TR T (Option 1D = 26041]

3.

ofgsws fRwr - 3 fart
4, B-‘H El i [Option ID = 26042]

[Option 1D = 26040]

Correct Answer :-

Uty fRw - T
R’ AR Her ¥R [Option 1D = 26041)

2) Feoz-fimis T s, fom St afeT e 9 9 7

[Question ID = 6511]

,, J9o7 [Option ID = 26036)

afess Ry [Option ID = 26038]
LFB‘H e [Option ID = 26037]

4. 5TE m TFRJJ' [Option ID = 26035]

Correct Answer :-

FET F19 TR (gption 1D = 26035]

3) 7, 35 yzor € €935 951 9
[Question ID = 6515]

HESTD] [Option ID = 26053]

1 A
USTIT (option 10 = 26052]
HJEEE [Option ID = 26054]

W [Option ID = 26051]

4, =

2.

Correct Answer :-

REL [Option ID = 26053]

) 3= fafinr fes foger He AT 9

[Question ID = 6479]

| oIS frw gF, WHGHZ FT5, FI6G AU (o ion 10 = 25908)
s* w39 fifwr, geee i TBes, fre THT TTHRT
[Option ID = 25910]

i, gees fAw fegsr, 7. B HIB (goion 10 = 25907)
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g‘{“s ufH"’r, Hfoeg T, Infeeg fRur
‘ [Option ID = 25909]

orrect Answer i-

c
70 U‘"H—T Hfoed a"'aT IBfeeT frur
/ [Option ID = 25909]

45) ffa-FOET 3, WU qoM ¥ fag HE Aaeut € ued fenrrfe A 13T 7

[Question ID = 6506]
S yfse, Ae=
. i N [Option ID = 26015]
ge. H3, 3')-(
[Option 1D = 26018]

fvav‘?ﬂ-ﬁ?"'
&t "3, @eHT
[Option 1D = 26017)
, 3o, 9%, fagee
. [Option ID = 26016)

2,

Correct Answer :-

==, fsgee
¥, : Optlon ID = 26016] .

46) Fmm (A) - TIAET gt 3 wiErg, W3R 5

W«R)-fgﬂw@-s_??mmemg, 3§39,
WmWﬁWWW,WWW%'
@zﬁa’:’?r’aﬁfﬂa’ra%z‘r -

[Question ID = 6508]
, (A) wZ (R) TF AT TS [option 1D = 26025]
(A ﬂﬁ U 7)»{3 (R) a [Option ID = 26026]

( A) U35 H’J’f 3 (R) WA 3!?’53 T (option ID = 26024]
( A) 3 (R) oF 753 J [Option ID = 26023]

Correct Answer =

_(A) 3 (R) T2 AT TS [option ID = 26025]

) WW%WW—WM

[Question ID = 6483]
1 c i [Option ID = 25924]

2 3|1.”é [Option ID = 25923]
[Option ID = 25925]

b
4, [Option ID = 25926]
Correct Answer :=

, U [Option ID = 25925]
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(1) WS T W=

(2) IS T& T FTHGAD
(3) Frfd=at

(4) US 3 YR

stion ID = 6526]

[Que
A-1, B2, G4, p-3 [Option 1D
B-1, C-4, D-3 [Option 1D
g-4, C-2, D-1 [Option 1D
c-1, D-2 (Option 1D

= 26097)
= 26095]
= 26096)
= 26098)

1.
2. A2,
3. A3,
4. A-3, B4,

Correct Answer -
. A-3,B4,Cl, D-2 [Option 10 = 26098])

qu,zssua—*émgz*éwv

49 grt FOS T CELE

[Question iD= 6481]

fAe gHd, A.H- HIA™ (option ID = 25918

a8 i Y3H,
2 SIS frfur, FIHATS frfur AT, IH RIS [OptionID=25916]
Az, JSEAS fFur €5
[Option ID = 25917]

gpfé?grraﬁﬁ,nm

s
4 s, S g.?ﬂﬁ 7o AU fes [Option ID = 25915]
Correct Answer :-
| IS Friur, T AU aAT, IH AgY WEET (option 1D = 259161
50) 35 ft HET ©F HO® T3 -
He-1 Aei-11
[ FEIoH a e T
I B-Freat b HTTAST'
1 3w 939 ¢ ITA=T
v fega J Sfamret S TAST

[Question ID = 6485]

1, I-B, 1I-A, 1I-C, IV-D [Option ID = 25931]
2. 1-B, II-A, 11I-D, IV-C [Option ID = 25934]
3, I-A, II-B, I1I-C, IV-D [Option ID = 25933]
4, I-A, 11-C, 1II-B, IV-D [Option ID = 25932]
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